a7 V—+rI7A4 77U —156 SRHES -

HEFF5412020 4ERR]

EFRER
2020.8.18
2022.6.9 ;BN
2024.1.31 3850
i =} 17, - KHE B iE
[ JEHE |20 | % 3.4.1 THDOLEY TioLEBY
B A T VR L
Bt 01T
I3 |34 | fiEan# 3.6.1 TRmD LB LOLEEY
S E A AR L
RBR DFRFE DIT
0wk X |77 | b)RBRGED 34TH | 1.ON/mm? (FBi%E) ~3.0N/mm? | 1.0N/mm?2 (M o 4% i 4 B 5 b4
7E 75 (Hh s M BE AL 25 H2) ~3.0N/mm2 (FGHH%)
IV $4k | 149 | 14TH MT 100 EFTEELZ 1uy M e [T 30 EFEELZ 1oy R &
T L L
V Rk 2| 156 | T 7T~61TH INHIRBERSBA DFRIE & 52 T T | ARIRREREB OFEE & 2 T 7ok
kT HHELT, BASBGMTRS | AE & LT, BASMHKTRS
DNRE T 5 SR TR A B A | 28 iﬁ;ﬂ“éfﬁa 75 kT TS R A 2 A
F, BRERAE T B, Bk | Bk SRy =
FEEEERENRTOND. %ﬁ%&éfg ENRRITF LD,
WETEE | 274 | 221TH U7 v 7 LRI CTRWESBH | U7 v 7 LRI TRWEEES
BT DM ORI NS O | 2469 A E M OIS I3RS 0
Bz a+5 L Bbns. w2242 L Bbhns.
% 3.4.1 [74])
#£3.4.1 EHARBHEEAMBHOEEERDENE
ER R DR P D WOTRERRE | MOFREES | FEMosE | BB
BRI & UMY LR £3.4.21245 O O i) A
o A R £3.4.31245 O i) R
B A 7 VR U RERE B 5 U T S-NHIX O o *
I TR L £3.4.41245 O O i) S
U AR R £3.4.51245 O i) TT(L2)
Z A (R 731 R SR 1) EAA O O O

3. 4. 4 THERR ST TEA R ORRITRE A Y ith
HlE= 27V — MEERG#E [BREH « 5811 7 3. 4.3

FTEE2GT2HHULTHD Z L 2MRT 5. HET v 7 O
WS> TRET 2D LTS,

SEREE L (2017 4E



# 3.4.1 [F]
=341 BAMSEGERERSHOEE RO

TR DR R D e BT EES | MOTRERE | FMoNE | e
BRI X Ok LI £3.4.21205 O O ) A
o AR £3.4.312065 - O &Y R
EY A 7 VR L BB 5T SN O O - -
TS R L £3.4.41205 O O Y S

1 AR £3.4.512465 - O &b TT(L2)
= DA (7 ) bEELIS O R O O - -

*3. 4. 4 THER S AL TEA RO FTFREEANF AR 3. 2 35 L0 3. 3 IRTRHEAEUE T » 7 DY 7t L TH 5 Z & 2R T 5.
FHIAENE T > 7 OFEIFIRIEL 12017 SEHIE = > 7 U — MEHEIRTTE [RREHR AEHE] 3/ 3. 4. 3 Iit> THET 2 b0 L T2,

s 3.6.1 [34]

fRE &3.6.1 HHEAMFHEAORFMEHERLE

sA# | Ak | B % C i
LN £21.356m X3 fun =y
W Foasn= Es FEo15m=0.9E; FEos55m=0.9E; Fos50=0.9E;
— J7 Fo.956m=0.9 Es Eo956m=0.7Es Fo956m=0.5E; Fo16m=0.5E
AR fOHES) eu=20e," eu=10g,* R _
12 ,20.04 7122 £,20.02 72 £,20.01
ERaY/E 8s=0.3mm 8:=0.3mm — —
. G S £21.35£, X1 fin -
Zz%;i ) E20:=0.85 1. E20:=0.5E1 E20:=0.25 K1 -
ERa/E 8s@00=0.3mm 85200=0.3mm — —
G S £21.3560 XI% fin - -
BV TE £ esa0=0.5e,
Wi Lk R 85(40=0.3mm Esto=¢ey _ _
es=1.5¢, 85=0.6mm
8s50=0.9mm

figani# 3.6.1 [1E]

fRE R3.6.1 HEAMFHEADORMEHERE

saf | Ak | B C
O £21.356n X1 fin £Z6n
Wb For5n= Es FEor50=0.9E; Fos60=0.9E; Fos50=0.9E;
— J7 IA] Fo956m=0.9E;s Fo955m=0.TE; Fo956m=0.5E; For150=0.5E;
IIHRMER WOE ea=20e/" eu= 10" £u=bey¥ B
73 £,=20.04 73D £,20.02 732 £,20.01
ERaV/E 8:=0.3mm s=0.3mm — —
. LN £=1.356n XX fin —
;;;E?f;; (G E20.=0.85E], E20.=0.5E; E20.20.25E}. -
TR0 & 85200=0.3mm 8s@0:=0.3mm - —
LN £=1.356n XX fin - -
SR IR s0=0.5¢gy
W U akBR S 85(40=0.3mm Esti) =8y _ B
es60=1.5¢y 850=0.6mm
8s59=0.9mm




